Advanced Algeora 2: Unit U Warm Up - Review

1. Let A(x) = x> —=12x* —=3x +8. Find A(-2) without using a calculator.
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2. Consider the polynomial P(x)=2x*-x?—15x+18

a. Show that P(-3)=0.
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b. Use the fact that p(_,_,) =0 along with synthetlc_ division and knoWledge of factoring

trinomials to completely factor 2x° —x? —15x +18.
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¢. What are all the zeroes (including any imaginary ones) to P(x) ?
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3. Consider the function f(x)=x" +8x? +26x +40 which has (x +4) as a linear factor. Find
all the zeroes of f(x)including any imaginary solutions
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